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PART-A / &=

Define inveluntary unemployment. 1

BinwmeE e e F

What is effective demand ? 1

s viem &

What do you understand by depreciation of capital 7 1

T TR e e

GNP = GDP - : (Fill in the blank)
1

GNP = GDP - (] 22 =5 o)

What is foreign exchange market ? 1

A Ry awr &

Which of the following transactions are included in the current

account of Balance of Payment ? - 1

AR TR s Bowe Sl e mwoe wade

fa}  Import and Export of goods
TR W O 2w

(b) Import and Export of services
FRE S W 1

2]



{¢) Unilateral transfer

ooy YEA

() All of the above

AOEE AR
(Chapse the correct oplion)

(u5 Fown e EEed)

2 Write the differences between CDPE at market price and GDP at factor cOst.

2

o5/ WEE GDP 9 Ty T GDPR W9 el T |
OR /&8

Write ome similarity and one difference between intermediate goods and

capital goods, 1+1=2

qeg ) 79 W AT B 5 FTAeT e B A

'3, What do you understand by “Paradox of Thrift’ ? 2

wmﬁwﬁmﬁﬂ‘qﬁmﬁsqﬂ!
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OR /w9

I

What s aggregate supply ? Explain.
FAlEE e e 9o By

Fad

4 Write lwo differences between direct tax and indirect tax.

HER T WA AEE L A w5 e Sy

5 What are the components of high-powered money 7 2

TwmTE YER Berene R
OR /&7y

Define Bank Rate and Cash Reserve Ratip, 1+]=2

(T % WR AW R e wm By

b, Write to differences between Balance of Payment and Balance of Trade,
2

wifRTeA e w AftE e wwe B e G

7. Write in brief the ideas of fixed exchange rate and flexible exchange rate.
2

%ﬁﬁwmmﬂﬁmﬁaﬁﬁwmamm TS fo |
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B What is investment multiplier 3 1f a new investment of Rs. 300 crore

increases National Income by Re. 1200 crore, calculate the value of

investment multiplier: in this case, what will be the value of MPC ?

1+1+2=4

wﬂﬁuﬁﬁmmﬁmﬂﬁﬁﬁtﬁmmﬁw1mmﬁw
qﬁim‘mﬁﬁwmwmmﬂlw, MPC-2 T @ 25 E

OR /@

Briefly discuss the components of aggregate demand.

e A BHRRTE A SR S

g \Write differences between the following concepts : (any two) 2+2=4

Gt RS e SR e (Firarn ¥OA)

(il Autonomous (nvestment and Induced investment.
K ﬁﬁmﬁ e wiEres R |

G} Ex-ante consumption and Ex-post consumption.
e BeATEl W (1S TS
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(i} Marginal propensity to consume and Marginal propensity to save,

i TorE feew v o wwE waee |

{tm)  Marginal propensity to consume and Average propensily to consume,

I TN 2RTE W G et sgee)

10.  Discuss four main functions of Central Bank. B!

GRS AR 57T A = S ==
OR /&

Explain how commercial banks create credit. 4

ACETT @AWE BT W 5 Tm wnE =

11, Discuss the components of Government Budget. 4

SEE AMEDY BomEE e =
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OR /99T
Define the following : 1+1+1+1=4
e EsA woe e
(i) ~ Fiscal Deficit
wﬂﬂ wifs
i) Primary Deficit
s 0o

(i) Planned government expenditure

el sEaR T

(i) MNon-planned government expenditure.

oSy S A |

Explain how GDP is caleulated using Income method. 6

mﬁﬁﬁwmsnpﬂwww;WM|
OR /&9t

Diiscuss the reasons why GDP can't be used as an index of country’s welfare.
B

Garaﬁmwmawmwﬁmwmﬂ|
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PART-B / %=t

Define sustaiable development. 1

ATE IR T e

During, British rule, decay of Indian handicrafts was caused by —
1

a5 s wraer TRRRE o TR wiE —
(u)  Discriminatory tariff policy of the British Government
(b)  Competition from ma::hi;w-nude products

V- R o wEe R e

¢} Change in patterns of demand
sifewm weee wGTdEn

(d) Al of the above

GHEE FEETE
(Choose the correct option)
(sw Sear 9 Efe)
In which year the NIT] Aayog was formed 7 1

e (NITI) =Es e bere o1 2 Pafws

[8]



(in) What is the difference between ‘Labour Force’ and "Work Force™ T
1

it W e wme widETn e

(o) Mention one similarity of the economic policies adopted by India and
Pakistan. 1

S G Y o T adies TR b e B

(vi) ~The ‘Great Leap Forward’ campaign in China focused on —
1

Fme wpeA T e (Great Leap Forward) SemWa T 9%F
wifeH —
(n) Privatisation
e
(b}  Widespread industrialisation
TR HERT
(c) Development of services sector

i g

(d) Economic reform
wdTATET AR

(Choose Uhe correct option}
(o5 Suach W SEea)
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14 Mention twa major industrial sector reforms in the Indian ECONOMY under

the policy of liberalisation, 2

G M W el waMife Tre vew om o T R RyER
B == |

OR /ey

Write about two positive effects of LPG palicies in the Indian CCONOMY,

2

SAEE wdNIEE LPG fifen #li srws werw fem B

15. Write fwro merits of GST. 2

GST-% #by 53w
OR/=5e

What is demonetisation ? Mention one positive effect of demonetisation in

the Indian economy, 2

T By erdtn wiiiee Ragmem o wres 2or Sy |
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16, What is structural composition of an economy ? AS on 2021, which sector

contributed highest to the GDF of India ? 1+1=2

e wafeien ddE B 2021 W G <% wed GDP 5 AT
gl e

OR /=477

fad

Write to characteristics of small-scale industries.

wm ToAlE w5 TP

L]

17. Write fwe differences between economic  infrastructure and soctal

infrastructhure. 2

S —ree e R R R
OR /@9l

Write about fie problems faced by the power sector in India. 2

T Wi wag FIIm (2 gy s R
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18. Write mny fwo measures undertaken by the Government of India (o

improve agricultural marketing. : 2

T ao TR TR A ST AR GO o Gy wh e e |
OR /594

What do you understand by diversification of agriculture ? 2

e Talboread 9fs b gy

19.  What are the fliree main approaches undertaken by Government of India

to alleviate poverty 7 2

HREE! GTATE AN SR 54RO R uF T o R &
OR / w&ar

Write a short note on MGNEREGA. 2

MGNREGA-= Btz suts a6 o &0 _
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20. Discuss the goals of planning in India. 4

wAETde HAaRwE TaE HEG T
OR/=eT]

Briefly discuss fim positive and ting negative impacts of Green Revolution.

2+2=4

e Rega ¥ w1 W 5D AN AERA A B oA 4

1. Write a comparative note on the demographic indicators for India, China

and Pakistan. . | 4
mtﬁmﬁmﬁﬁmﬁﬁmm.ﬁmqﬁmqﬁw

(B aFE A |
OR/=

(i)  Write ftoo reasons for rapid economic development in China, 2

i e sdee Fare BE wRe iR
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() Write fwo réasons for slow economic growth in Palistan. 2

“fifrenm wg wdtnies s ob wme B

22, Wrile about different types of unemployment, 4

Rt ffer oo fam B

23, s economic growth, a cause of environmental degradation ? Justify your

ANSWET. 4

wETHE B e FAE e O are e CETNR TE A g

TR |
OR /&g
(i) Write firo causes of global warming, 2

csirede Tuael 9 757 et o

() Suggest fwo measures for attaining sustainable development in India.

2
eEeTE auren TEge oifud A g wannd S
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4.

What is organic farming ? Discuss its rm:rits- and demerits, 1+5=6

e o B TR AR wie SRR S =
OR/a93r

What is Human Capital ? Discuss the sources of human capital formation.

1+5m6

e e 1 T TR SR TR S 4
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